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QUESTION 1

You are preparing to implement a storage virtual machine (SVM) in a SAN configuration. You need to eliminate single
points of failure and enable the system to survive component failures. According to NetApp, what is the recommended
minimum number of paths per LUN connecting to each node being used by an SVM in a cluster? 

A. 4 

B. 2 

C. 1 

D. 3 

Correct Answer: B 

 

 

QUESTION 2

After a storage administrator turned off IP fast path, all the NFS clients lost connectivity to the storage controller. Which
statement describes what happened in this scenario? 

A. The NFS clients are using NFS over UDP. 

B. All clients are in the local broadcast domain. 

C. The ARP cache is flushed when IP fast path disabled. 

D. No default gateway is configured. 

Correct Answer: A 

 

QUESTION 3

An existing aggregate with a maximum RAID size of 6 has four existing RAID groups with three disks in each RAID
group. There are nine spare disks available. All disks on the node are the same type and size. What will be the result of
adding all nine spare disks to the aggregate? 

A. You receive the "maximum number of raidgroups exceeded" error. 

B. The aggregate will have seven RAID groups. 

C. The aggregate will have three RAID groups. 

D. The aggregate will have five RAID groups. 

Correct Answer: D 
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QUESTION 4

Click the Exhibit tab. cluster::> network port show Node Port Ipspace Broadcast Domain Link MTU Admin/Open 

node1 

e0a Cluster Cluster up 9000 auto/1000 

e0b Cluster Cluster up 9000 auto/1000 

e0c Default Default up 1500 auto/1000 

e0d Default Default up 1500 auto/1000 

e0e Default Default up 1500 auto/1000 

e0f Default Default up 1500 auto/1000 

e0g Default Default up 1500 auto/1000 

node2 

e0a Cluster Cluster up 9000 auto/1000 

e0b Cluster Cluster up 9000 auto/1000 

e0c Default Default up 1500 auto/1000 

e0d Default Default up 1500 auto/1000 

e0e Default Default up 1500 auto/1000 

e0f Default Default up 1500 auto/1000 

e0g Default Default up 1500 auto/1000 

A customer contracts you and asks for assistance in determining which ports can be used for a new broadcast domain
on a clustered Data ONTAP 8.3.2 system. The system is serving LUNs using the FC protocol and is in production. 

However, for Ethernet traffic, it is not yet in production. The customer provides you the output of the network port show
command. 

Referring to the exhibit, which ports will be eligible to create a new broadcast domain without impacting production
storage virtual machines (SVMs) serving FC LUNs? 

A. any port in theClusterbroadcast domain on node1 and node2 

B. any port on node1 

C. any port in theDefaultbroadcast domain on node1 and node2 

D. any port on node2 

Correct Answer: C 
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QUESTION 5

Click the Exhibit tab. 

A storage administrator tells you that a company security mandate was applied to remove all CIFS share level
permissions of everyone - full control. Now users are unable to access CIFS shares. 

The storage virtual machine (SVM) is named "SVM1" on clustered Data ONTAP 8.3.1. The storage administrator wants
to know what can be done to restore full control access to users that are receiving "access denied" errors. The storage 

administrator has provided you with the vserver cifs share show command output of one of the CIFS shares with issues
as shown in the exhibit. 

Which two steps must you perform to solve the problem? (Choose two.) 

A. Execute the : : >vserver cifs share access-control delete -vserver SVM1 -share test9 - user-or-group
Everyonecommand from the controller. 

B. Execute the : : >vserver cifs share access-control delete -vserver SVM1 -share test9 - user-or-group
domain\interngroupcommand from the controller. 

C. Ensure that, in Active Directory, the desiredusers are members of thedomainA\tempsgroup. 

D. Ensure that, in Active Directory, the desired users are members of thedomainA\companyusersgroup. 

Correct Answer: BD 

Latest NS0-191 Dumps NS0-191 PDF Dumps NS0-191 Exam Questions

Latest NS0-191 Dumps | NS0-191 PDF Dumps | NS0-191 Exam Questions                                4 / 5

https://www.pass4lead.com/ns0-191.html
https://www.pass4lead.com/ns0-191.html
https://www.pass4lead.com/ns0-191.html
https://www.pass4lead.com/ns0-191.html
https://www.pass4lead.com/ns0-191.html
https://www.pass4lead.com/ns0-191.html


https://www.pass4lead.com/ns0-191.html
2022 Latest pass4lead NS0-191 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4lead.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4lead, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

Latest NS0-191 Dumps | NS0-191 PDF Dumps | NS0-191 Exam Questions                                5 / 5

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4lead.com/ns0-191.html
https://www.pass4lead.com/ns0-191.html
https://www.pass4lead.com/ns0-191.html

